pOsL:

www.posu-pneumatic.com

. 2= #E1% 88 (FB) Tube Fitting (Black)
Elbow

=ese......

% WAE i & I
PL4-M3 3 13.6 17 13.7 | 15.5 8 M3X05 3 11
PL4-M5 4 13.3 17 13.7 | 155 8 M5X0.8 3.2 2
PL4-M& 4 4 16.2 | 20.5 8 13.7 | 1858 10 MEX1.0 4.6 2.5
PL4-01 9.6 20 24 13.7 | 165 10 PT1/8 6.4 4
PL4-02 7 17.2 21 13.7 | 165 14 PT1/4 15.2 4
PLB-M5 4 141 19 13.8 | 16.2 8 M5X0.8 4 2
PLE-MB 4 15.7 | 20.6 13.8 | 16.5 10 MEX1.0 5.4 2.5
PL6-01 3] 7 18.3 23 10 13.8 | 16.5 10 PT1/8 7.4 4
PLG-02 9.4 21.1 26 14 15.7 14 PT1/4 16.2 4
E PLB-03 9.8 21.2 26 14 16.1 i PT3/8 19.6 4
-C—_‘ PL8-01 7 21.5 28 202 | 226 10 PT1/8 0.8 5.4
|I PL8-02 8 95 22 28.5 13.6 20 225 14 PT1/4 16 54
N QI:& EaEEi : | N PLE-03 9.3 223 29 201 | 225 17 PT3/8 20.6 54
Sio] 1 4 | PL8-04 1.8 | 252 | 31.5 201 | 223 2 PT1/2 338 54
FEE PL10-01 6.9 23 Y 243 | 27.7 10 PT1/8 17 &
"] al= PL10-02 10 9.6 252 33 16.7 241 | 276 14 PT1/4 18.4 5
m PL10-03 9.4 249 33 242 | 276 17 PT3/8 236 ]
| = PL10-04 12 27 a5 243 | 275 21 PT1/2 348 5
< L | PL12-02 12 232 | 325 247 | 282 14 PT1/4 21.4 -]
R \B PL12-03 12 9.6 26.6 35 [19.6 | 249 | 289 17 PT3/8 26.6 8
Metric thread .
v type PL12-04 9.6 26 35 25 28.8 21 PT1/2 T 8
PL_ k&R
cAD | CAD B{iT{Unit): mm
LT L & B EEILE
PL3-M3-NI 3 15.2 | 195 12.7 15 8 M3X0.5 38 141
PL3-M5-NI 3 32 133 | 17.2 7 8 14.5 8 MEX0.8 3.8 2
PL3-M&-NI 4 16.2 | 20.5 12.7 15 10 MEX1.0 5.6 2
PL4-M3-NI 35 | 1386 | 17 136 15 8 M3X0.5 39 1.1
PL4-M5-NI 4 il 17 13.6 15 8 M5X0.8 4.1 2
PL4-MG-NI 4 4 16.2 | 20.5 8 13.6 15 10 MBX1.0 5 25
PL4&-01-NI 9.6 20 24 13.6 15 10 PT1/8 e 4
PL4-02-NI T 7.2 21 13.6 15 14 PT1/4 16.1 4
PLE-MS-NI 4 14.1 19 137 | 1587 8 MEX0.8 4.8 2
PLBE-ME-MNI 6.8 15.7 | 206 13.7 | 156 10 MBX1.0 6.2 25
PLE-01-MI 6 7 18.3 23 10 13.7 | 158 10 PT1/8 8.2 4
E PLE-02-MI 9.4 21.1 26 13.9 | 15.2 14 PT1/4 17 4
C I PLB-03-NI 9.8 21.2 26 13.9 | 156 17 PT3/8 20.4 4
B T PL8-01-NI T 215 28 201 | 221 10 PT1/8 121 54
% g]é__ : ‘\' PLB-02-NI ; 9.5 22 28.5 13.6 19.9 22 14 PT1/4 183 54
] s PL8-03-NI 9.3 22.3 29 20 22 17 PT3/8 229 54
] PL8-04-NI 1.8 | 25.2 | 31.5 20 21.8 21 PT1/2 36.1 54
] o~ PL10-01-MI 6.9 23 K}l 242 | 27.2 10 PT1/8 208 5
CH PL10-02-MI 10 9.6 25.2 33 16.7 24 271 14 PT1/4 22.2 5
< PL10-03-NI 9.4 24.9 33 241 | 271 17 PT3/8 27.4 5
< }E PL10-04-NI 12 27 35 242 27 21 PT1/2 38.6 E
PR, ﬂﬂreadF:ype \B PL12-02-NI 12 23.2 | 325 246 | 27.7 14 PT1/4 28.8 3
S TR PL12-03-NI 12 9.6 26.6 i 19.6 | 248 | 284 17 PT3/8 34 8
PL12-04-NI 9.6 26 35 249 | 283 21 PT1/2 45.2 8
PL16-03-NI 18 9.6 308 | 435 03 228 | 3186 21 PT3/8 41.4 .7
PL16-04-NI 12 305 | 43.2 228 | 316 21 PT1/2 46.6 .7

NI: & BRRERE NI:Release Ring (Metalic Body)




